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Sound waves

October 8



1 Review how to solve the wave equation in a finite domain.
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2 What are the allowed frequencies if we have two free ends?
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3 Give a formula for the speed of sound, and estimate it in typical gases,

liquids and solids.



4 A small woodwind instrument can be approximated by a tube with two

“free” ends. Estimate the fundamental frequency of this instrument if

it has a length of 30 cm.
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5 Describe the stresses in a solid and derive a continuum version of
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6 Derive the wave equation in a solid.
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